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ELIMINATION

To solve a linear system by elimination:

If the two equations have the same x OR y coefficient, they can be solved by a process called ‘Elimination’.
We can do this by either adding or subtracting the two equations!

Step 1: Eliminate by adding

or subtracting the two
equations.

*Add if the signs are
opposite, subtract if the signs
are the same.

Step 2: Solve for the first
variable by solving the
equation

Step3: Substitute your
solution from step 2 into one
of the original equations (you
may choose either one to
use).

Step 4: Solve for the second
variable by solving the
equation

State the final answer as a
coordinate (X, y)

You can check your work by
completing a LS/RS check.
Substitute your (x,y) solution
into the original equation that
you DID NOT use in step 3
above.

(he

Example 1
D ox+ 5y =30
@fax— 5y =0

A Ux 15y +(-59) =30 +O

6)(‘1‘O=3'O
bx =30
6 6
(D 2x+5y=30
2(B) +5y=130
-12 -0
IO-I-%: 30
By =20
5 5
x_, Yy
(5. 4
éCHECL}i
@Qx-?_rg-o
4x =5y ©
4(5)-5(y)
= 20 - 20
= K
LS = RS

solution s (9 (4_,)

Example 2
@ 3x + 4y =22

[-(@3x — y =17

XY thy () =223
0 + 4y+y =22-1F

33

x .,y
(., 1)

=3

0, IX+l4y = 22

3x+ 4y 17
3e) +u4(1) | 22
-1 + 4
~ 22

o> =f5

" TThe solution s (6, f)
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Example 3 Example 4 7"CLM Varigble o
het's pice "y 6x+5y=3 hCM 7, L(ax+3y=3 Tre ppasiie sieq .
Yo eliminate  gx (x+ y=14) i« 9 3 (3x-2y=-19
Step 1: Eliminate by adding A
or subtracting the two bx +59: 3 8)( + é’j -
equations. E b’xﬁy: 10 E’ QX - é:j - §—7—
*Add if the signs are - VN
opposite, subtract if the signs 6X— (5%) ‘ﬁ‘j - (“7_\9) = S'(-{‘O) 8x fﬁ% + é"j H64)=6 +(-5 7)
are the same. | Iy - -5 |
Step 2: Solve for the first - * = _
variable by solving the |7 \+
equation
>
7)1y =
Step3: Substitute your — =
solution from step 2 into one q( 3) t 3J ‘3
of the original equations (you - 9] +T 312
may choose either one to use). a -+ 3 Yy = 3
Ste_p 4: Solve fo_r the second :')1 ) - E—
variable by solving the 2 3
equation
Statedthe firEaI a;wswer asa x ,y) x .,y
coordinate (X, y
et 8h 3.5
ECK

You can check your work by @
completing a LS/RS check. 1( Cheqe
Substitute your (x,y) solution 6X 4+ "5:3 =3
into the original equation that _ -19
you DID NOT use in step 3 _jf_f_?-?__j__— 3x 2y ] _
above. 6(eD)s®) | 3 3(3)-2(5) | 119

=~U0Q + W5 -9 - lo

-3 - 19 ~19

’ ¥ s (-39
+ The solution s (-6F o) 7 The Solution is ( 3‘)
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Practice: Solve by Elimination.
1. 4x+2y=3 2. 3x-5y=8
=] 3x+2y=5 3=(5) [H 10x+5y=44
- -(2 °.
ILY: (3x) -+ 25 ( b) 3)(* Qox)_g\j_p(‘)") :3 'l‘((##)

A m
S ) Bx ~22

A% +2y=5 =
% (- 9_)_}';5“’ 5 f‘b/‘@

B s ff ) 3x-ry =8
=L 304) -5y =

2 6—_'& -
J

%y =_4_=

— —-og_

3) "PoT (4, %4)

3.3(x-3y=0) Elmlngt< "5 4.3 (3x-2y=15)  Elminegte it 5"
l(%x-Zy:-?) ACM -3 '1.(-4x+3y=-20) Aem iy e
U \) W
() 3x-Ty= -Ix +8y = 4o
5 3x-2y~"F

SRy (ot | Rl
E,

-3y =1 24 =19
-2 o A 3)( (j s
= 3(5)-2y =1 _
2) /\ 5-29 =19
S("?):j = O _2;2 :._‘_Q_?_
X - 3(0 © -2

“*3-;;33 . Polis [3=2
) T (73 Y . PAT is ('7‘,0)

ANSWERS: 1. (-2, 5.5), 2.(4,0.8), 3.(-3,-1), 4. (5, 0)

COMPLETE: p.40 - #1ac, 2b, 3d, 44, 5c, 6ac Page 3



